APPLIED MATH 9

Handout 4: Assembling the Solution to the Wave Equation for a
More General Initial Condition

In the previous handout we discussed how one can represent certain
functions in terms of the functions

sin(krz/L), k=1,2,....

We are interested in these functions because when they are used for the
initial condition of the wave equation, the solution has a simple form. For
example, as discussed in Handout 2 (and as you can check for yourself), if

u(zx,t) = sin(kwz/L)sin(kert /L),
then u(z,t) satisfies the wave equation
ug(z,t) = CQUM(x,t), O<zxz<L,t>0,
and the boundary conditions
u(0,t) = u(L,t) = 0,t > 0.
Note that for this solution we have the initial conditions
u(x,0) = 0,us(x,0) = k% sin(krz/L).

Likewise,
u(z,t) = sin(kmwz/L) cos(kert/L)

satisfies the wave equation, boundary conditions, and initial conditions
u(z,0) = sin(krx /L), ut(z,0) = 0.

While this gives us some solutions to the wave equation, these are not “typ-
ical” initial conditions. How can we solve for more realistic conditions, such
as a plucked string, or a string that is struck with a hammer at time 07 The
linearity of the wave equation is crucial at this point. By linear, what we
mean is that if ui(x,t) and uy(z,t) are solutions to the wave equation and



boundary conditions, then so is aju;(x,t) + agua(z,t), where a1 and ay are
any real valued constants. This is easy to check:
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and
aruy(0,t) + CLQUQ(O, t) =0,a1u1(L,t) + agua(L,t) =0

for t > 0. Thus, e.g.,
sin(mx /L) cos(ent /L) + sin(2wxz /L) cos(2¢nt /L)

is a solution to the wave equation. We can take any finite sum, and in fact,
under conditions which guarantee convergence, we can even take infinite
sums.

Example. We recall the string plucked to height 1 at the center:

[ 2/l 0<z<L/)2
f(x)_{ 2-22/L L/2<z<L.

In the last handout we discussed how this function can be represented in
the form

f(z) = i agsin(kmz /L),
k=1
where

2 .
ar = Wsm(kwﬂ).

If we want to solve the wave equation with u(z,0) = f(x),ut(x,0) = 0, then
perhpas we should try to build it from the known solutions

sin(knx /L) cos(kent/L), k= 1,2,...
(we don’t bother with the solutions sin(kwz /L) sin(kert /L) because uy(x,0) =
0). The representation for f(x) suggests

o)

u(x,t) = Z <7T22k2 sin(kﬂ'/2)> sin(krz/L) cos(kert/L),

k=1




and in fact this turns out to be the solution.

Note that the frequency of cos(kent/L) (number of oscillations per sec-
ond) is kc/2L. The frequencies of all parts of the solution are integer mul-
tiples of the lowest frequency c¢/2L (also called the fundamental). The co-
efficients aj measure the acoustic energy put into the different frequencies,
and these numbers differ for different initial conditions. It is this different
“weighting” of the frequencies that distinguishes the sound of the “plucked”
string from that of say a string struck with a hammer. For the record, the
solution to the wave equation when the string is struck in the middle by a
hammer, which has zero displacement at time 0 but nonzero velocity, is

u(z,t) = Z (% sin(knr/2)> sin(kmz /L) sin(kent/L).

k=1



